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1 2GS (DX, 800KN) GPZ( 11 ) = 630 630 630 630 630 630 630 630 630 630 630
2 | @AM (SX, 800KN) GPZ( 11 ) == 540 540 540 540 540 540 540 540 540 540 540
3 % 3G e 3 (GD, 800KN) GPZ( 11 ) = 510 510 510 510 510 510 510 510 510 510 510
4 | @RISR (DX, 1000kN) GPZ( 11 ) == 730 730 730 730 730 730 730 730 730 730 730
5 | #EFARIE S (SX, 1000kN) GPZ( 11 ) £ 620 620 620 620 620 620 620 620 620 620 620
6 | ARSI (GD, 1000kN) GPZ( 11 ) == 600 600 600 600 600 600 600 600 600 600 600
7 | #EFUEIE S (DX, 1250kN) GPZ( 11 ) £ 840 840 840 840 840 840 840 840 840 840 840
8 | ARSI (SX, 1250kN) GPZ( 11 ) == 720 720 720 720 720 720 720 720 720 720 720
9 | #EFUARIE S (GD, 1250kN) GPZ( 11 ) = 720 720 720 720 720 720 720 720 720 720 720
10 | AR (DX, 1500kN) GPZ( 11 ) == 950 950 950 950 950 950 950 950 950 950 950
11| #0308 (SX, 1500kN) GPZ( 11 ) £ 840 840 840 840 840 840 840 840 840 840 840
12 | AAIRIRSJE (GD, 1500kN) GPZ( 11 ) == 860 860 860 860 860 860 860 860 860 860 860
13 | #0308 (DX, 2000kN) GPZ( 11 ) £ 1350 1350 1350 1350 1350 1350 1350 1350 1350 1350 1350
14 | ARSI (SX, 2000kN) GPZ( 11 ) == 1150 1150 1150 1150 1150 1150 1150 1150 1150 1150 1150
15 | #3063 (GD, 2000kN) GPZ( 11 ) = 1100 1100 1100 1100 1100 1100 1100 1100 1100 1100 1100
16 | AR (DX, 2500kN) GPZ( 11 ) == 1650 1650 1650 1650 1650 1650 1650 1650 1650 1650 1650
17 | =0 S8 (SX, 2500kN) GPZ( 11 ) £ 1380 1380 1380 1380 1380 1380 1380 1380 1380 1380 1380
18 | ARSI (GD, 2500kN) GPZ( 11 ) == 1400 1400 1400 1400 1400 1400 1400 1400 1400 1400 1400
19 | @05 S HE (DX, 3000kN) GPZ( 11 ) S 2060 2060 2060 2060 2060 2060 2060 2060 2060 2060 2060
20 | @RISR (SX, 3000kN) GPZ( 11 ) == 1700 1700 1700 1700 1700 1700 1700 1700 1700 1700 1700
21 | 73U S (GD, 3000kN) GPZ( 11 ) = 1700 1700 1700 1700 1700 1700 1700 1700 1700 1700 1700
22 | @RISR (DX, 3500kN) GPZ( 11 ) £ 2600 2600 2600 2600 2600 2600 2600 2600 2600 2600 2600
23 | 73R S (SX, 3500kN) GPZ( 11 ) = 2140 2140 2140 2140 2140 2140 2140 2140 2140 2140 2140
24 | @RISR (GD, 3500kN) GPZ( 11 ) £ 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000
25 | R SC)EE (DX, 4000kN) GPZ( 11 ) £ 3200 3200 3200 3200 3200 3200 3200 3200 3200 3200 3200
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26 | 7RIS (SX, 4000kN) GPZ( 11 ) S 2650 2650 2650 2650 2650 2650 2650 2650 2650 2650 2650
27 | @RISR (GD, 4000kN) GPZ( 11 ) == 2330 2330 2330 2330 2330 2330 2330 2330 2330 2330 2330
28 | 7=V S (DX, 5000kN) GPZ( 11 ) S 4300 4300 4300 4300 4300 4300 4300 4300 4300 4300 4300
29 | @RISR (SX, 5000kN) GPZ( 11 ) B 3500 3500 3500 3500 3500 3500 3500 3500 3500 3500 3500
30 | KIS (GD, 5000kN) GPZ( 11 ) S 3400 3400 3400 3400 3400 3400 3400 3400 3400 3400 3400
31 | #AMEISE (DX, 6000kN) GPZ( 11 ) B 5300 5300 5300 5300 5300 5300 5300 5300 5300 5300 5300
32 | #AUEI S (SX, 6000KN) GPzZ( 11 ) S 4300 4300 4300 4300 4300 4300 4300 4300 4300 4300 4300
33 | # AL (GD, 6000kN) GPZ( 11 ) == 4320 4320 4320 4320 4320 4320 4320 4320 4320 4320 4320
34 JQZ (1) -10. 0-GD 10000kN B4 Py A 9700 9700 9700 9700 9700 9700 9700 9700 9700 9700 9700
35 JQZ (1) -10. 0-SX 10000kN APy A 8920 8920 8920 8920 8920 8920 8920 8920 8920 8920 8920
36 JQZ (1) -10. 0-DX 10000kN EA Py A 11700 11700 11700 11700 11700 11700 11700 11700 11700 11700 11700
37 JQz (1) -8. 0-GD 8000KN LA Py A 6900 6900 6900 6900 6900 6900 6900 6900 6900 6900 6900
38 JQz(1)-8.0-SX 8000kN LAY A 6900 6900 6900 6900 6900 6900 6900 6900 6900 6900 6900
39 JQz (1) -8. 0-DX 8000KN APy A 8600 8600 8600 8600 8600 8600 8600 8600 8600 8600 8600
40 JQZ(1)-6. 0-GD 6000KN LA Py A 5100 5100 5100 5100 5100 5100 5100 5100 5100 5100 5100
41 JQZ(1)-6. 0-SX 6000kN LAY A 5400 5400 5400 5400 5400 5400 5400 5400 5400 5400 5400
42 JQZ (1) -6. 0-DX 6000KN LA Py A 6600 6600 6600 6600 6600 6600 6600 6600 6600 6600 6600
43 JQZ(1)-5. 0-GD 5000kN LAY A 4100 4100 4100 4100 4100 4100 4100 4100 4100 4100 4100
44 JQZ (1) -5. 0-SX 5000kN EAA A 4400 4400 4400 4400 4400 4400 4400 4400 4400 4400 4400
45 JQZ(1)-5. 0-DX 5000kN LAY A 5400 5400 5400 5400 5400 5400 5400 5400 5400 5400 5400
46 JQZ (1) 4. 0-GD 4000kN LA Py A 3100 3100 3100 3100 3100 3100 3100 3100 3100 3100 3100
47 JQZ (1) -4. 0-SX 4000kN LA P A 3400 3400 3400 3400 3400 3400 3400 3400 3400 3400 3400
48 JQZ (1) -4. 0-DX 4000kN LA Py A 4400 4400 4400 4400 4400 4400 4400 4400 4400 4400 4400
49 JQz(1) -2. 5-SX 2500KN LA Py A 2200 2200 2200 2200 2200 2200 2200 2200 2200 2200 2200
50 JQz (1) -2.5-DX 2500KN LAY A 2800 2800 2800 2800 2800 2800 2800 2800 2800 2800 2800
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51 JQZ(1)-3. 0-SX 3000kN EAA A 2600 2600 2600 2600 2600 2600 2600 2600 2600 2600 2600
52 JQz (1) -3. 0-DX 3000kN APy A 3300 3300 3300 3300 3300 3300 3300 3300 3300 3300 3300
53 KUBE I SO ¢ 200mm LAYy m 21 21 21 21 21 21 21 21 21 21 21

54 BRI B ¢ 300mm APy m 39 39 39 39 39 39 39 39 39 39 39

55 KUBE I SO ¢ 400mm LAYy m 63 63 63 63 63 63 63 63 63 63 63

56 BRI B & 500mm APy m 95 95 95 95 95 95 95 95 95 95 95

57 KUBE I SO ¢ 600mm LAYy m 140 140 140 140 140 140 140 140 140 140 140
58 WUBE WS & 800mm LAY m 240 240 240 240 240 240 240 240 240 240 240
59 WRIEE @ 100mm m 8.9 8.9 8.9 8.9 8.9 8.9 8.9 8.9 8.9 8.9 8.9
60 PEE ® 200mm m 19.7 19.7 19.7 19.7 19.7 19.7 19.7 19.7 19.7 19.7 19.7
61 B KE @ 50mm m 4.2 4.2 4.2 4.2 4.2 4.2 4.2 4.2 4.2 4.2 4.2
62 WAIEKE ® 100mm m 7.1 7.1 7.1 7.1 7.1 7.1 7.1 7.1 7.1 7.1 7.1
63 B KE @ 150mm m 12.1 12.1 12.1 12. 1 12.1 12. 1 12.1 12. 1 12.1 12. 1 12.1
64 WAIEKE ® 200mm m 20.1 20. 1 20.1 20. 1 20.1 20. 1 20.1 20.1 20.1 20.1 20.1
65 + T A 250g/m2 n2 1.8 1.8 1.8 1.8 1.8 1.8 1.8 1.8 1.8 1.8 1.8
66 + T A 300g/m2 m2 2T 2T 257, 27 2.7 2.7 2.7 2.7 2.7 2.7 2.7
67 + T A 500g/m2 m2 4.3 4.3 4.3 4.3 4.3 4.3 4.3 4.3 4.3 4.3 4.3
68 + T 300g/m2 m2 3.2 3.2 3.9 3.2 3.2 3.2 3.2 3.2 3.2 3.2 3.2
69 + T 500g/m2 m?2 5 5 5 5 5 5 5 5 5 5 5

70 LT 5 R I - A A iz F720KN X 20KN w2 3.8 3.8 3.8 3.8 3.8 3.8 3.8 3.8 3.8 3.8 3.8
71 1] 5 PR A = A Al Hir F125KN X 25KN m? 4.8 4.8 4.8 4.8 4.8 4.8 4.8 4.8 4.8 4.8 4.8
72 LT 5 R I - A A HI F730KN X 30KN m2 6 6 6 6 6 6 6 6 6 6 6

73 1] 5 PR A b A Al i1 F73BKNX 35KN m2 7.4 7.4 7.4 7.4 7.4 7.4 7.4 7.4 7.4 7.4 7.4
74 LT 5 R I - A A $iI 7740KN X 40KN m? 9.3 9.3 9.3 9.3 9.3 9.3 9.3 9.3 9.3 9.3 9.3
75 EAF £ T H7 7730KN X J0KN m?2 1.9 1.9 1.9 1.9 1.9 1.9 1.9 1.9 1.9 1.9 1.9
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76 A TR M 7 7J40KN X 40KN m2 %3 8 2.3 03 2.3 2.3 2.3 2.3 2.3 2.3 2.3
77 BT+ TR A i F750KN X 50KN n2 2.4 2.4 24 2.4 2.4 2.4 2.4 2.4 2.4 2.4 2.4
78 A TR M 7 7760KN X 60KN m2 2.8 2.8 2.8 2.8 2.8 2.8 2.8 2.8 2.8 2.8 2.8
79 RN 400W = 2250 2250 2250 2250 2250 2250 2250 2250 2250 2250 2250
80 AT 250 = 1460 1460 1460 1460 1460 1460 1460 1460 1460 1460 1460
81 TR AT 150W = 930 930 930 930 930 930 930 930 930 930 930
82 AT 100W = 860 860 860 860 860 860 860 860 860 860 860
83 R EARLT 70W = 790 790 790 790 790 790 790 790 790 790 790
84 B&iE LED 4T FEARLT, 50W £ 510 510 510 510 510 510 510 510 510 510 510
85 B%i& LED 4T TEEeT, 50W == 680 680 680 680 680 630 680 630 680 630 680
86 B&iE LED 4T INSEXT, 60W S 680 680 680 680 680 680 680 680 680 680 680
87 B%i& LED 4T IERAT, 100W %= 960 960 960 960 960 960 960 960 960 960 960
88 B%iE LED 4T fnERAT, 140 = 1190 1190 1190 1190 1190 1190 1190 1190 1190 1190 1190
89 B%iE LED 4T REFAT, 500 £ 520 520 520 520 520 520 520 520 520 520 520
90 LED 58 54T JTAT i :6m. ZhER60W = 2200 2200 2200 2200 2200 2200 2200 2200 2200 2200 2200
91 LED BB 4T JTAF - 6my T3 100W %= 2400 2400 2400 2400 2400 2400 2400 2400 2400 2400 2400
92 LED S % (T JTAF & 6my ZhE 1500 £ 2600 2600 2600 2600 2600 2600 2600 2600 2600 2600 2600
93 LED 5B 54T JTAF 1 :8m ZhE100W == 3200 3200 3200 3200 3200 3200 3200 3200 3200 3200 3200
94 LED S % (T JTAF & :8my ZhE 1500 £ 3400 3400 3400 3400 3400 3400 3400 3400 3400 3400 3400
95 LED 578 %4 JTFFE : 10my By 100W £ 3500 3500 3500 3500 3500 3500 3500 3500 3500 3500 3500
96 LED 5L 2% /T JTHFE : 10my THE 1500 = 3600 3600 3600 3600 3600 3600 3600 3600 3600 3600 3600
97 LED 578 %47 JTFFE  12my BER100W £ 4400 4400 4400 4400 4400 4400 4400 4400 4400 4400 4400
98 LED 58 54T JTFFES - 12m0 TR 1500 = 4600 4600 4600 4600 4600 4600 4600 4600 4600 4600 4600
99 LED 578 54T JTFFE  12my B#R200W £ 4800 4800 4800 4800 4800 4800 4800 4800 4800 4800 4800
100 LEDXUE 4T JTFF G :8m. TZE2%100W = 4000 4000 4000 4000 4000 4000 4000 4000 4000 4000 4000
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101 LEDXUE 4T JTFF G :8m. ThZE2%150W = 4400 4400 4400 4400 4400 4400 4400 4400 4400 4400 4400
102 LEDXUR g% X FTHF & 10my By 2%100W B 4500 4500 4500 4500 4500 4500 4500 4500 4500 4500 4500
103 LEDXUR % 4T JTAT - 10my ThER 2% 150W = 5000 5000 5000 5000 5000 5000 5000 5000 5000 5000 5000
104 LEDXUR g% X FTAF & 12my P& 2%100W B 5700 5700 5700 5700 5700 5700 5700 5700 5700 5700 5700
105 LEDXUE 4T JTFF RS 12m0 TR 21500 = 6100 6100 6100 6100 6100 6100 6100 6100 6100 6100 6100
106 LEDXUR 4T JTHF i 12m0 B 242000 £ 6400 6400 6400 6400 6400 6400 6400 6400 6400 6400 6400
107 AN BT KA 9mekAmek2m = 61400 61400 61400 61400 61400 61400 61400 61400 61400 61400 61400
108 AN T B KA 40m® & 37600 37600 37600 37600 37600 37600 37600 37600 37600 37600 37600
109 AN BT KA 43%3%2m = 29900 29900 29900 29900 29900 29900 29900 29900 29900 29900 29900
110 SOt KL i 69(;4%0:m36/8m01f§76%[f: o & 22000 22000 22000 22000 22000 22000 22000 22000 22000 22000 22000
111 SDF % i X AL R 158;3‘73%;2?2“3);? 2ok & 43900 43900 43900 43900 43900 43900 43900 43900 43900 43900 43900
112 SOt KL ik 177(});1;)3{0m;2/&152851(ﬁs; 2110k & 73800 73800 73800 73800 73800 73800 73800 73800 73800 73800 73800
113 R 2 2m A 26.5 26.5 26.5 26.5 26.5 26.5 26.5 26.5 26.5 26.5 26.5
114 A 0 7 kA5 705 A% t 5500 5500 5500 5500 5500 5500 5500 5500 5500 5500 5500
115 LRI T A5 105 A%% t 5400 5400 5400 5400 5400 5400 5400 5400 5400 5400 5400
116 AT t 3500 3500 3500 3500 3500 3500 3500 3500 3500 3500 3500
117 BRI SBR t 3800 3800 3800 3800 3800 3800 3800 3800 3800 3800 3800
118 UPS (6KVA, 7E£530) T-6KVA N3 ity SR ik S A H = 1800 1800 1800 1800 1800 1800 1800 1800 1800 1800 1800
119 UPS (10KVA, 7E£k30) T-10KVA ANEr el =AHBE=AHH = 7500 7500 7500 7500 7500 7500 7500 7500 7500 7500 7500
120 UPS (15KVA, 7Rk T-15KVA ANEepith = AHEE=AHH = 9000 9000 9000 9000 9000 9000 9000 9000 9000 9000 9000
121 UPS (20KVA, 7E£k30) T-20KVA ANEr el =AHBE=AHH = 10300 10300 10300 10300 10300 10300 10300 10300 10300 10300 10300
122 UPS (30KVA, 7Rk T-30KVA A& et =AHEE=AHH = 12300 12300 12300 12300 12300 12300 12300 12300 12300 12300 12300
123 UPS (60KVA, 7E£E) T-60KVA A&l A=A H = 20700 20700 20700 20700 20700 20700 20700 20700 20700 20700 20700
124 UPS (100KVA, 7Rk T-100KVA ANE5 Hidl = AHIE =AM H = 31100 31100 31100 31100 31100 31100 31100 31100 31100 31100 31100
125 | UPS(120KVA, 7E£E=0) T-120KVA AE e = =4 H = 38200 38200 38200 38200 38200 38200 38200 38200 38200 38200 38200
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1 2GRS (DX, 8O0KN) GPZ( 11 ) eSS 560 560 560 560 560 560 560 560 560 560 560
2 | @AM (SX, 800KN) GPZ( 11 ) == 480 480 480 480 480 480 480 480 480 480 480
3 73U e 3 (GD, 80OKN) GPZ( 11 ) = 450 450 450 450 450 450 450 450 450 450 450
4 | @RISR (DX, 1000kN) GPZ( 11 ) == 650 650 650 650 650 650 650 650 650 650 650
5 | KIS (SX, 1000KN) GPZ( 11 ) = 550 550 550 550 550 550 550 550 550 550 550
6 | ARSI (GD, 1000kN) GPZ( 11 ) == 530 530 530 530 530 530 530 530 530 530 530
7 | #EFUEIE S (DX, 1250kN) GPZ( 11 ) £ 750 750 750 750 750 750 750 750 750 750 750
8 | ARSI (SX, 1250kN) GPZ( 11 ) == 640 640 640 640 640 640 640 640 640 640 640
9 | UK SLE (GD, 1250kN) GPZ( 11 ) eSS 640 640 640 640 640 640 640 640 640 640 640
10 | AR (DX, 1500kN) GPZ( 11 ) == 850 850 850 850 850 850 850 850 850 850 850
11| 70K S (SX, 1500kN) GPZ( 11 ) £ 740 740 740 740 740 740 740 740 740 740 740
12 | @RGSR (GD, 1500kN) GPZ( 11 ) == 760 760 760 760 760 760 760 760 760 760 760
13 | # U JE S (DX, 2000kN) GPZ( 11 ) = 1200 1200 1200 1200 1200 1200 1200 1200 1200 1200 1200
14 | ARG (SX, 2000kN) GPZ( 11 ) == 1020 1020 1020 1020 1020 1020 1020 1020 1020 1020 1020
15 | #=0JE S (GD, 2000kN) GPZ( 11 ) = 980 980 980 980 980 980 980 980 980 980 980
16 | ARSI (DX, 2500kN) GPZ( 11 ) == 1470 1470 1470 1470 1470 1470 1470 1470 1470 1470 1470
17 | # sV S (SX, 2500kN) GPZ( 11 ) = 1220 1220 1220 1220 1220 1220 1220 1220 1220 1220 1220
18 | ARSI (GD, 2500kN) GPZ( 11 ) == 1240 1240 1240 1240 1240 1240 1240 1240 1240 1240 1240
19 | =0 38 (DX, 3000kN) GPZ( 11 ) £ 1830 1830 1830 1830 1830 1830 1830 1830 1830 1830 1830
20 | @RISR (SX, 3000kN) GPZ( 11 ) == 1500 1500 1500 1500 1500 1500 1500 1500 1500 1500 1500
21 | R )R (GD, 3000kN) GPZ( 11 ) £ 1500 1500 1500 1500 1500 1500 1500 1500 1500 1500 1500
22 | @RISR (DX, 3500kN) GPZ( 11 ) == 2300 2300 2300 2300 2300 2300 2300 2300 2300 2300 2300
23 | &R S (SX, 3500kN) GPzZ( 11 ) S 1920 1920 1920 1920 1920 1920 1920 1920 1920 1920 1920
24 | @RISR (GD, 3500kN) GPZ( 11 ) == 1800 1800 1800 1800 1800 1800 1800 1800 1800 1800 1800
25 | R SR (DX, 4000kN) GPZ( 11 ) £ 2900 2900 2900 2900 2900 2900 2900 2900 2900 2900 2900
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26 | 7 =URI S (SX, 4000kN) GPZ( 11 ) eSS 2350 2350 2350 2350 2350 2350 2350 2350 2350 2350 2350
27 | @RISR (GD, 4000kN) GPZ( 11 ) == 2070 2070 2070 2070 2070 2070 2070 2070 2070 2070 2070
28 | #UEIE A (DX, 5000kN) GPZ( 11 ) £ 3800 3800 3800 3800 3800 3800 3800 3800 3800 3800 3800
29 | @RISR (SX, 5000kN) GPZ( 11 ) B 3100 3100 3100 3100 3100 3100 3100 3100 3100 3100 3100
30 | KIS (GD, 5000kN) GPzZ( 11 ) S 3000 3000 3000 3000 3000 3000 3000 3000 3000 3000 3000
31 | #AMEISE (DX, 6000kN) GPZ( 11 ) B 4700 4700 4700 4700 4700 4700 4700 4700 4700 4700 4700
32 | AL (SX, 6000KN) GPZ( 11 ) £ 3800 3800 3800 3800 3800 3800 3800 3800 3800 3800 3800
33 | # AL (GD, 6000kN) GPZ( 11 ) == 3830 3830 3830 3830 3830 3830 3830 3830 3830 3830 3830
34 JQZ (1) -10. 0-GD 10000kN B4 Py A 8600 8600 8600 8600 8600 8600 8600 8600 8600 8600 8600
35 JQZ (1) -10. 0-SX 10000kN EA Py A 7900 7900 7900 7900 7900 7900 7900 7900 7900 7900 7900
36 JQZ (1) -10. 0-DX 10000kN EA Py A 10300 10300 10300 10300 10300 10300 10300 10300 10300 10300 10300
37 JQZ(1)-8.0-GD 8000kN LAY A 6100 6100 6100 6100 6100 6100 6100 6100 6100 6100 6100
38 JQz (1) -8.0-SX 8000kN LAY A 6100 6100 6100 6100 6100 6100 6100 6100 6100 6100 6100
39 JQZ(1)-8. 0-DX 8000kN LAY A 7600 7600 7600 7600 7600 7600 7600 7600 7600 7600 7600
40 JQZ(1)-6. 0-GD 6000KN LA Py A 4500 4500 4500 4500 4500 4500 4500 4500 4500 4500 4500
41 JQZ(1)-6. 0-SX 6000kN LAY A 4800 4800 4800 4800 4800 4800 4800 4800 4800 4800 4800
42 JQZ (1) -6. 0-DX 6000KN LA Py A 5800 5800 5800 5800 5800 5800 5800 5800 5800 5800 5800
43 JQz (1) -5. 0-GD 5000kN LA Py A 3600 3600 3600 3600 3600 3600 3600 3600 3600 3600 3600
44 JQZ (1) -5. 0-SX 5000kN LA Py A 3900 3900 3900 3900 3900 3900 3900 3900 3900 3900 3900
45 JQZ(1)-5. 0-DX 5000kN LAY A 4800 4800 4800 4800 4800 4800 4800 4800 4800 4800 4800
46 JQZ (1) -4. 0-GD 4000kN LA Py A 2760 2760 2760 2760 2760 2760 2760 2760 2760 2760 2760
47 JQZ (1) -4. 0-SX 4000kN LA Py A 3000 3000 3000 3000 3000 3000 3000 3000 3000 3000 3000
48 JQZ (1) 4. 0-DX 4000kN LA Py A 3900 3900 3900 3900 3900 3900 3900 3900 3900 3900 3900
49 JQZ(1)-2. 5-SX 2500KN BAY A 1950 1950 1950 1950 1950 1950 1950 1950 1950 1950 1950
50 JQZ (1) -2. 5-DX 2500KN BAA A 2500 2500 2500 2500 2500 2500 2500 2500 2500 2500 2500
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51 JQZ(1)-3. 0-SX 3000kN A A 2300 2300 2300 2300 2300 2300 2300 2300 2300 2300 2300
52 JQz (1) -3. 0-DX 3000kN APy A 2900 2900 2900 2900 2900 2900 2900 2900 2900 2900 2900
53 KUBE I SO ¢ 200mm LAYy m 19 19 19 19 19 19 19 19 19 19 19
54 BRI S & 300mm APy m 35 35 35 35 35 35 35 35 35 35 35
55 KUBE I SO ¢ 400mm LAYy m 57 57 57 57 57 57 57 57 57 57 57
56 BRI S & 500mm APy m 85 85 85 85 85 85 85 85 85 85 85
57 KUBE I SO ¢ 600mm LAYy m 120 120 120 120 120 120 120 120 120 120 120
58 BRI S & 800mm LAY m 210 210 210 210 210 210 210 210 210 210 210
59 WEVE S @ 100mm m 8.1 8.1 8.1 8.1 8.1 8.1 8.1 8.1 8.1 8.1 8.1
60 BEEE ® 200mm m 17.5 17.5 17.5 17.5 17.5 17.5 17.5 17.5 17.5 17.5 17.5
61 BAEKE @ 50mm m 3.8 3.8 3.8 3.8 3.8 3.8 3.8 3.8 3.8 3.8 3.8
62 WAIEKE ® 100mm m 6.5 6.5 6.5 6.5 6.5 6.5 6.5 6.5 6.5 6.5 6.5
63 ABEKE @ 150mm m 10. 8 10.8 10.8 10.8 10. 8 10.8 10. 8 10.8 10.8 10.8 10.8
64 WAIEKE ® 200mm m 18.2 18.2 18.2 18.2 18.2 18.2 18.2 18.2 18.2 18.2 18.2
65 + T A 250g/m2 n2 1.6 1.6 1.6 1.6 1.6 1.6 1.6 1.6 1.6 1.6 1.6
66 + T A 300g/m2 m2 2.4 2.4 2.4 2.4 2.4 2.4 2.4 2.4 2.4 2.4 2.4
67 + T A 500g/m2 n2 3.9 3.9 3.9 3.9 3.9 3.9 3.9 3.9 3.9 3.9 3.9
68 + T 300g/m2 m2 2.9 2.9 2.9 2.9 2.9 2.9 2.9 2.9 2.9 2.9 2.9
69 + T 500g/m2 n2 4.5 4.5 4.5 4.5 4.5 4.5 4.5 4.5 4.5 4.5 4.5
70 LT 5 R I A A $17720KN X 20KN m2 3.4 3.4 3.4 3.4 3.4 3.4 3.4 3.4 3.4 3.4 3.4
71 1] 5 PR A = T Al i /725KN X 25KN n2 4.2 4.2 4.2 4.2 4.2 4.2 4.2 4.2 4.2 4.2 4.2
72 LT 5 R I - A A $1 77 30KN X 30KN m2 5.3 5.3 5.3 5.3 5.3 5.3 5.3 5.3 5.3 5.3 5.3
73 1] 5 PR s = A Al i /735KN X 35KN m2 6.5 6.5 6.5 6.5 6.5 6.5 6.5 6.5 6.5 6.5 6.5
74 LT 5 R I - A A 43117 40KN X 40KN m2 8.2 8.2 8.2 8.2 8.2 8.2 8.2 8.2 8.2 8.2 8.2
75 Beef L TR At 37 7730KN X 30KN m2 1.7 1.7 1.7 1.7 1.7 1.7 1.7 1.7 1.7 1.7 1.7




p=i

¥ 010 7T, b 11
BRAEZE LEME T SE BN

- 20214F04 Ay BRBUNMEAS R (ER083D Bl TG
s [ZRE RN Fikg XA — - - -

A 1] i =M SN RS Yz T TN T FEIHIF R X
76 Beef L TR At /7 40KN X 40KN n2 2 2 2 2 2 2 2 2 2 2 2
77 BT+ TR Al 1 7750KN X 50KN m2 2.1 2.1 2.1 2.1 2.1 2.1 2.1 2.1 2.1 2.1 2.1
78 Beef L TR At i 7760KN X 60KN n2 2.5 2.5 2.5 2.5 2.5 2.5 2.5 2.5 2.5 2.5 2.5
79 TR AT 400W = 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000
80 T RANIT 250W & 1300 1300 1300 1300 1300 1300 1300 1300 1300 1300 1300
81 TR AT 150W = 820 820 820 820 820 820 820 820 820 820 820
82 AT 100W il 760 760 760 760 760 760 760 760 760 760 760
83 R EARLT 70 = 700 700 700 700 700 700 700 700 700 700 700
84 F%iE LED 4T FEARLT, 50W %= 460 460 460 460 460 460 460 460 460 460 460
85 B%i& LED 4T IsEST, 500 £ 600 600 600 600 600 600 600 600 600 600 600
86 B&iE LED 4T JNsEXT, 60W S 600 600 600 600 600 600 600 600 600 600 600
87 F&3iE LED 4T TISEKT, 100W == 850 850 850 850 850 850 850 850 850 850 850
88 B&iE LED 4T fnERAT, 140 = 1050 1050 1050 1050 1050 1050 1050 1050 1050 1050 1050
89 B%iE LED 4T REFAT, 500 £ 460 460 460 460 460 460 460 460 460 460 460
90 LED 5L 2% /T JTHFE 6m. T 60W %= 1900 1900 1900 1900 1900 1900 1900 1900 1900 1900 1900
91 LED 78 BT JTFFR :6m. ThE100W £ 2100 2100 2100 2100 2100 2100 2100 2100 2100 2100 2100
92 LED 5L 2% /T JTHF& :6m. THE 1500 %= 2300 2300 2300 2300 2300 2300 2300 2300 2300 2300 2300
93 LED 5B 54T JTAF 1 :8m ZhE100W == 2800 2800 2800 2800 2800 2800 2800 2800 2800 2800 2800
94 LED 5L 2% /T JTHFE :8m. T 1500 = 3000 3000 3000 3000 3000 3000 3000 3000 3000 3000 3000
95 LED 78 BT JTFF= 1 10my ByER100W £ 3100 3100 3100 3100 3100 3100 3100 3100 3100 3100 3100
96 LED 2L 4T JTHFFES - 10m. TR 1500 = 3200 3200 3200 3200 3200 3200 3200 3200 3200 3200 3200
97 LED 5B 54T JTFFE  12my BER100W £ 3900 3900 3900 3900 3900 3900 3900 3900 3900 3900 3900
98 LED 2L 4T JTAT G 12my ZhER 1500 = 4100 4100 4100 4100 4100 4100 4100 4100 4100 4100 4100
99 LED 578 B4 JTFFE  12my B#R200W £ 4200 4200 4200 4200 4200 4200 4200 4200 4200 4200 4200
100 LEDXUE 4T JTHT 1 :8my ZhER2%100W = 3500 3500 3500 3500 3500 3500 3500 3500 3500 3500 3500
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101 LEDXUE 4T JTHT -8y ZhER 21500 = 3900 3900 3900 3900 3900 3900 3900 3900 3900 3900 3900
102 LEDXUE 4T JTFFEG 1 10m. TER2%100W %= 4000 4000 4000 4000 4000 4000 4000 4000 4000 4000 4000
103 LEDXUR % %] FT AT - 10m. ThE 251500 = 4400 4400 4400 4400 4400 4400 4400 4400 4400 4400 4400
104 LEDXUR g% X FTAF & 12my ByZ2%100W B 5000 5000 5000 5000 5000 5000 5000 5000 5000 5000 5000
105 LEDXUE 4T JTFFES  12m0 TR 21500 = 5400 5400 5400 5400 5400 5400 5400 5400 5400 5400 5400
106 LEDXUR g% X FTAF & 12my By & 22000 B 5700 5700 5700 5700 5700 5700 5700 5700 5700 5700 5700
107 AN B K AH 9mekdmk2m = 54300 54300 54300 54300 54300 54300 54300 54300 54300 54300 54300
108 AN T B KA 40m® & 33300 33300 33300 33300 33300 33300 33300 33300 33300 33300 33300
109 AN BT K AH 4%3%2m = 26500 26500 26500 26500 26500 26500 26500 26500 26500 26500 26500
110 SOt KL i 69(;4%0:m36/8m01f§76%[f: Tl & 19500 19500 19500 19500 19500 19500 19500 19500 19500 19500 19500
111 SDF % i X AL R 1583;3‘73%;2?2413);? 2ok & 38800 38800 38800 38800 38800 38800 38800 38800 38800 38800 38800
112 SOt KL i 177(});1;)3{0m;2/&152851(ﬁs; 2110k & 65300 65300 65300 65300 65300 65300 65300 65300 65300 65300 65300
113 R 2 2m A 23.5 23.5 23.5 23.5 23.5 23.5 23.5 23.5 23.5 23.5 23.5
114 A 0 7 kA5 705 A% t 4900 4900 4900 4900 4900 4900 4900 4900 4900 4900 4900
115 SRAE T ARG 105 A% t 4800 4800 4800 4800 4800 4800 4800 4800 4800 4800 4800
116 AT t 3100 3100 3100 3100 3100 3100 3100 3100 3100 3100 3100
117 BRI SBR t 3400 3400 3400 3400 3400 3400 3400 3400 3400 3400 3400
118 UPS (6KVA, 7E£530) T-6KVA A3 ity SR ik A H = 1600 1600 1600 1600 1600 1600 1600 1600 1600 1600 1600
119 UPS (10KVA, 7E£E0) T-10KVA A&l = AHE= A H = 6600 6600 6600 6600 6600 6600 6600 6600 6600 6600 6600
120 UPS (15KVA, 7Rk T-15KVA ANEr et =AHEE=AHH = 8000 8000 8000 8000 8000 8000 8000 8000 8000 8000 8000
121 UPS (20KVA, 7E£E) T-20KVA A&l ZATE= A H = 9100 9100 9100 9100 9100 9100 9100 9100 9100 9100 9100
122 UPS (30KVA, 7Rk T-30KVA A& et = AHEE=AHH = 10900 10900 10900 10900 10900 10900 10900 10900 10900 10900 10900
123 UPS (60KVA, 7E£E) T-60KVA A&l = A=A H = 18300 18300 18300 18300 18300 18300 18300 18300 18300 18300 18300
124 UPS (100KVA, 7Rk T-100KVA ANE5 Hidl = AHIE =AM H = 27500 27500 27500 27500 27500 27500 27500 27500 27500 27500 27500
125 | UPS(120KVA, 7E£E=0) T-120KVA AE il =t =4 H = 33800 33800 33800 33800 33800 33800 33800 33800 33800 33800 33800




